Rectangular
Lace Shawl #A442



how to

make

MEASUREMENTS
Depth (approx) cm 60
Length (approx) cm 170

Yarn Required:
Lincraft Cakes 200g balls 2

DIFFICULTY @

NEEDLES:
A pair of 7.00mm knitting needles.
Wool needle for sewing in ends.

TENSION:

16 sts and 18 rows to 10cm over patt, using 7.00mm
needles.

This Shawl has been designed to be worked on larger

needles and at a looser tension than usually recommended.

SHAWL (worked sideways)

Using 7.00mm needles, cast on 94 sts.

st row: K3, * yfwd, K2, sI 1, K1, psso, K2tog, K2, yfwd,
K1, rep from * to last st, K1.

2nd row: Purl.

3rd row: K2, * yfwd, K2, sl 1, K1, psso, K2tog, K2, yfwd,

K1, rep from * to last 2 sts, K2.
Ath row: Purl.
Last 4 rows form patt.

Cont in patt until Shawl measures approx 170cm from beg,

ending with a 4th patt row.
Cast off loosely knitways.

FINISHING
Sew in all ends.
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